(e Gl daée\ (¢ Gl daée\ (v Gl daée\
o=\xo t=\x¢ Y=\xv
Ye=Yxo A=Yx¢ T=YxY
Yo=¥xe Y Y=¥x¢ =rxY
Ye=¢xo \i=¢x¢ \Y=¢xY
Yo=0ox0o Y.=ox¢ Yo=oxY
Y.=1xo Yé=Ix¢ YA=T1xY
yYo=Vxeo YA=Vx¢ Yi=VxYy
¢ v=A%0 YY=AX¢ Yé=AxY
to=4%o Yi=4x¢ YV=4axY
=) %0 to=) e x¢ Ye=)oxY
N AN NS J
(\ v ds \ (4 el daée\ (A el daée\
Yo=Y e x) a=4x\ A=Ax
Ye=)oxY YA=4xY Vi=AxY
Yez=)exY YV=4axY Yé=AxY
AN £ Yi=4x¢ YY=Ax¢
ov=) X0 to=4%0o ¢ v=A%0
Te=) e x o¢=44x" ¢ A=AX"
Ve=)oxV Tr=4xV ol=AxV
Av=) o xA VY=4xA 1E=AXA
A ARE & Ay=4x%19 VY=Ax4
ERE AR AK Qe=a%) Avz=AXN
NS NS NS J

Y

Qe Jsi>
Y=\x¥
t=YxY
T=YxY
A=¢xY

Y e=oxY

Y Y="1xY

Yé=VxY

Y i=AxY

YA=4xY

Yo=Y oxY

-/
v

Qe Jsi>

V=Vx
Yé=VxY
Yi=VxYy
YA=Vx¢
yYe=Vxeo
£ Y=VxT
¢d=VxV
o=VxA

Tr=Vx4

Ve=Vx\.

—

\

Qe Jsi>
Y =\x)
Y=Yx\
¥=¥x\
t=¢x)
e=ox)
=%
V=Vx)
A=Ax\
=4%)

Yo=Y e x)

-/
!

Qe Jsi>

1=1%)
Y Y=1%xY
YA=TxY
Yé="1x¢
Y.=1%x0
¥i=1%x"
¢Y="1xV
EA=T1xA
o¢="1x%4

Te=1%)"

—

(Chig#%~a§dﬂﬁihn)éﬂﬁq)-:e*u‘ﬂ}.ﬂch



